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Instractions fo Candidates:
Attempt all ton guestions from Part A, five gue stions oul ftf seven from Part It

«and four questions out of five from pariC. N7
Schematic diagrams must be shown wherever necessary. Any dita you fered
missing may switably be asstmed and  stated  clearly. Unity o] (uteasttites
wsed fealewdared mmfh: stated clear] arlv. N )
Use of following supporting  meterial is permitted  during Cxaninetion.
(Mentioned in form No. 205) e ﬂ

NN ' 2 NIl

PARY A e

Answer should he given up lo 25 words only) IIII.I:-L.-..II]. A

All questions sire compulsory

\Q{ﬂ‘{hmstmul the forward difference table k. the function 1(x) = tan % for 0,10 < x <030

by Laking h = (5.
@2 Prove tha 1§ = ¢, where e symbols have wir uuu.ll mc.mmp
FFFFF e o = b el

“63 Write Gauss lorward and Gauss hackwaid interpolation formula.

/ffd What is numerical integration formula in Simpson’s 38 rule?
T T
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i k . il
.5 Using Runpe Kotk sect il endder metlexd, gy approxingite soliinon of the dilterenial

couition :-: = f(x,y); y(%a) = Yo is gi¥en by .
Je(hy 4 ko), where ky = bl (xn. o) it k> = h[‘l_r: 4 b, ya + YR Then

P i

Yoo =¥t

what are the values u;ﬁ_ 1:'

hmr-.liyt.

. a

ﬂ.h State existengg.condition of Laplace T

Q.7 Find Laplace transform of R (ax).
Q.8 State convolution theorem for Fourier imslonms,
Q.9 Write damping rule for 7 - transform.

Q. 10 Write a function whose z- tmnsform is equal to 1.

PART-B

(Analytical/lProblem solving r 1estions)
Attempt anyifive questions

ISxB=dll] .

0.1 Prove tha

(i)iaut + (i)anzu, -

1=XS g 1-x £
Cc ol L

X+ u?gt_f + Elx’ + = ﬂ;'q,}l—
—

wﬁillg_l.ngmngu's interpolation Pl’urnlul:l. lind the value of logio 301 for the following

data -

X 300 | 304 | 305 | 307

Iogox=Mx) | 2477|2482 | 2.484 | 24871

o — s W ————

.3 Evaluate J.'?E_ to 4 decimal places hy ”"“"““'Rﬂnﬁgg! hod
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ﬂ -
1*/.4 Using Runge - Kutta method. obiain a solution of the equatydn

for x = 1.4, usingh=0.2.

Q.5 Define Dirac Delta Function and find its Laplage and Fourier transforms.

%nﬂ the Fourier transform of f(x) defined by -

1, xl<a
Kx) = lu. x| > a '

L
And hence evaluaie } Mﬁm

Q.7 Using convolution theorem, evaluate

Attempt any four guestions

Q.1 (a) Find inverse Laplace transform of s log (E—:») + 2.
_—a

| @) __!'” Using Newton - (:?rg:gory forward fmmuln.rﬁﬂjl}lcmg]m_iuu EQ]\-numi;‘!: which

passes 1hruugh the pmnts[l -1),(2,-1), (3, D and (4, 5).

.Q{:HJ/GWEH lhﬂl—='{1 R")g and y(0) = 1, y(0.1) = 1.06, y(0.2) = 112, “n

ﬁl--

p—

1.21. Evaluate y(0.4) by Milne's predictor n_'felhnd.
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Fi ___.- dividipg the
uﬂﬂlcuhleuﬂog."fmm I dx . using Simpson’s 3 1 rule by P
. b

fl s
range into five ordinales.

: ; the initial value problem
-63/!31 U:l_aplxcuansfumﬂmmwlﬂ initial v

_ {0 0st<m/2
%1,!,;[{;}, y(0) = 2, where f(v) = [::ast. t2 n/2

e

\.(H(Uu: Stirling formula to find 23 gives:
: = = 34306.
- e = 48316. Yo = 47236, y3s = 45926. yso
}'1.--4.9225- ¥5 y 1

L, T

Q4 @ Fmdﬂ:ecumpleanuncrmfumﬂufc‘“‘

(b) UsingRe;thalsimethodﬁndualnnufequminnﬂ+4sinx=ﬂ.

1 v
QS5 (a) Hndﬂlefmmmm:mﬁmmsm,
-ﬁ———-—-_

(b) Using Z — uransform solve the d:ffcm cquation Gtie:2 — Ue+1 - Ua = 0, given I.IIII

w0)=0,u(l)= 1.
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